

A WAVELET REGULARIZATION METHOD FOR AN INVERSE HEAT CONDUCTION PROBLEM WITH CONVECTION TERM

WEI CHENG, YING-QI ZHANG, CHU-LI FU

ABSTRACT. In this article, we consider an inverse heat conduction problem with convection, which is ill-posed; i.e., the solution does not depend continuously on the given data. A special projection dual least squares method generated by the family of Shannon wavelets is applied to formulate an approximate solution. Also an optimal-order estimate for the error between the approximate solution and exact solution is obtained.

1. INTRODUCTION

In many industrial applications it is needed to determine the temperature on the surface of a body, where the surface is inaccessible for measurements [2]. In this case, it is necessary to determine the surface temperature from a measured temperature history at a fixed location inside the body. This is called an inverse heat conduction problem (IHCP) and has been an interesting subject recently. The standard problem is to determine the temperature u in the sideways heat equation

$$\begin{aligned}u_t &= u_{xx}, & x > 0, t > 0, \\u(x, 0) &= 0, & x \geq 0, \\u(1, t) &= g(t), & t \geq 0,\end{aligned}\tag{1.1}$$

$u(x, t)$ remains bounded as $x \rightarrow \infty$,

which has been considered by many authors; see [3, 5, 6, 10, 12, 13, 14] and the references therein.

In this article we consider a non-standard inverse heat conduction problem: A heat conduction problem with convection term in a quarter plane which appears in some applied subjects [1, 8, 15, 16],

$$\begin{aligned}u_t + u_x &= u_{xx}, & x > 0, t > 0, \\u(x, 0) &= 0, & x \geq 0, \\u(1, t) &= g(t), & t \geq 0,\end{aligned}\tag{1.2}$$

$u(x, t)$ remains bounded as $x \rightarrow \infty$,

2000 *Mathematics Subject Classification.* 65M30, 35R25, 35R30.

Key words and phrases. Ill-posed problem; inverse heat conduction; dual least squares method; Shannon wavelet; regularization.

©2013 Texas State University - San Marcos.

Submitted February 5, 2013. Published May 17, 2013.

where the convection term u_x relates to a fluid going through the body [1]. We want the temperature distribution in the interval $[0, 1)$ for problem (1.2). This problem is ill-posed problem in the sense that small perturbations in the data may cause dramatically large errors in the solution. Details can be seen in [8].

Xiong and his colleagues investigated (1.2) by the central difference method in [15, 16]. Regińska [11] solved (1.1) in the interval $[0, 1)$ by applying the wavelet dual least squares method, which is based on the family of Meyer wavelets. This regularization method has also been used for solving an unknown source identification problem by Dou and Fu [4]. In this paper, we solve (1.2) in the interval $[0, 1)$ by determining the temperature distribution using a wavelet dual least squares method generated by the family of Shannon wavelets.

To the best of our knowledge, so far most theoretical results concerning the error estimates of regularization methods in the literature are of Hölder type; i.e., the approximate solution ν and the exact solution u satisfy

$$\|u(x, \cdot) - \nu(x, \cdot)\| \leq 2E^{1-x} \delta^x$$

where E is an a priori bound on $u(0, t)$. However, from the inequality mentioned above we know that when $x \rightarrow 0^+$ the accuracy of the regularized solution becomes progressively lower. At $x = 0$, it merely implies that the error is bounded by $2E$; i.e., the convergence of the regularized solution at $x = 0$ is not proved. In this paper, we apply the wavelet dual least squares method to stabilize the problem (1.2). Taking suitable regularization parameter, we not only obtain the Hölder continuity with $p = 0$ in (1.3) for $0 < x < 1$, but also get a logarithmic Hölder convergence error estimate with $p > 0$ for $0 \leq x < 1$, especially gain the logarithmic type convergence estimate on the boundary $x = 0$. In a sense, this is an improvement of known result in [6], and as our aim here is to obtain only stability estimate.

As we consider (1.2) in $L^2(\mathbb{R})$ with respect to variable t , we extend $u(x, \cdot)$, $g(\cdot) := u(1, \cdot)$, $f(\cdot) := u(0, \cdot)$, and other functions of variable t appearing in the paper to be zero for $t < 0$. By a solution of (1.2) we understand a function $u(x, t)$ satisfying (1.2) in the classical sense; and for every fixed $x \in [0, 1)$, the functions $u(x, \cdot)$ belongs to $L^2(\mathbb{R})$. Throughout the paper, we assume that for the exact g , the solution u exists and satisfies an a-priori bound

$$\|f(\cdot)\|_p := \|u(0, \cdot)\|_p \leq E, \quad p \geq 0, \quad (1.3)$$

where $\|f(\cdot)\|_p$ is defined by

$$\|f(\cdot)\|_p := \left(\int_{-\infty}^{\infty} (1 + \xi^2)^p |\hat{f}(\xi)|^2 d\xi \right)^{1/2}.$$

Since g is measured by the thermocouple, there will be measurement errors, and we would actually have as data some function $g_\delta \in L^2(\mathbb{R})$, for which

$$\|g_\delta(\cdot) - g(\cdot)\| \leq \delta, \quad (1.4)$$

where the constant $\delta > 0$ represents a bound on the measurement error, and $\|\cdot\|$ denotes the $L^2(\mathbb{R})$ norm and

$$\hat{h}(\xi) = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-i\xi t} h(t) dt$$

is the Fourier transform of function $h(t)$. For the uniqueness of solution, we require that $\|u(x, \cdot)\|$ be bounded [7], which implied that $u(x, \cdot)|_{x \rightarrow \infty}$ is bounded. The

solution of problem (1.2) is given by its Fourier transform [8, 15]:

$$\hat{u}(x, \xi) = e^{(1-x)\theta(\xi)} \hat{g}(\xi), \quad (1.5)$$

where

$$\begin{aligned} \theta(\xi) &= \sqrt{i\xi + 1/4} - 1/2 \\ &= (1/2) [\sqrt[4]{1 + 16\xi^2} (\cos(\beta/2) + i \sin(\beta/2)) - 1], \quad \xi \in \mathbb{R}, \end{aligned} \quad (1.6)$$

$$\beta = \arg(1 + 4i\xi), \quad \tan \beta = 4\xi, \quad -\pi/2 < \beta < \pi/2 \quad \xi \in \mathbb{R}, \quad (1.7)$$

$$\cos(\beta/2) = \frac{\sqrt{\sqrt{1 + 16\xi^2} + 1}}{\sqrt{2} \sqrt[4]{1 + 16\xi^2}}, \quad \xi \in \mathbb{R}, \quad (1.8)$$

$$\sin(\beta/2) = \sigma \frac{\sqrt{\sqrt{1 + 16\xi^2} - 1}}{\sqrt{2} \sqrt[4]{1 + 16\xi^2}}, \quad \xi \in \mathbb{R}, \quad \sigma = \text{sign}(\xi). \quad (1.9)$$

It is easy to verify from (1.5) and (1.7) that

$$\hat{f}(\xi) = e^{\theta(\xi)} \hat{g}(\xi), \quad \xi \in \mathbb{R}. \quad (1.10)$$

The following lemma will be used in our proofs.

Lemma 1.1 ([8]). *Let $\theta(\xi)$ be given by (1.6), then there holds*

$$e^{-x\sqrt{|\xi|/2}} \leq |e^{-x\theta(\xi)}| \leq \sqrt{e} e^{-x\sqrt{|\xi|/2}}, \quad 0 \leq x \leq 1, \quad \xi \in \mathbb{R}. \quad (1.11)$$

To formulate problem (1.2) for $x \in [0, 1]$ in terms of an operator equation in the space $X = L^2(\mathbb{R})$, we define an operator $K_x : u(x, \cdot) \mapsto g(\cdot)$, i.e.,

$$\forall u(x, \cdot) \in X, \quad K_x u(x, t) = g(t), \quad 0 \leq x < 1. \quad (1.12)$$

From (1.5), we obtain

$$\widehat{K_x u}(x, \xi) = e^{-(1-x)\theta(\xi)} \hat{u}(x, \xi) = \hat{g}(\xi) \quad 0 \leq x < 1. \quad (1.13)$$

Denote $\widehat{K_x u}(x, \xi) := \widehat{K_x} \hat{u}(x, \xi)$, and we can see that $\widehat{K_x} : L^2(\mathbb{R}) \mapsto L^2(\mathbb{R})$ is a multiplication operator,

$$\widehat{K_x} \hat{u}(x, \xi) = e^{-(1-x)\theta(\xi)} \hat{u}(x, \xi). \quad (1.14)$$

Lemma 1.2. *Let K_x^* be the adjoint to K_x , then K_x^* corresponds to the following problem where the left-hand side u_t of problem (1.2) is replaced by $-U_t$, says*

$$\begin{aligned} -U_t + U_x &= U_{xx}, \quad x >, t > 0, \\ U(x, 0) &= 0, \quad x \geq 0, \\ U(1, t) &= g(t), \quad t \geq 0, \end{aligned} \quad (1.15)$$

$U(x, t)$ remains bounded as $x \rightarrow \infty$,

and

$$\widehat{K_x^*} = e^{-(1-x)\overline{\theta(\xi)}}. \quad (1.16)$$

Proof. By (1.14) and the relations

$$\langle K_x u, v \rangle = \langle \widehat{K_x} \hat{u}, \hat{v} \rangle = \langle \hat{u}, \widehat{K_x^*} \hat{v} \rangle = \langle u, K_x^* v \rangle = \langle \hat{u}, \widehat{K_x^*} \hat{v} \rangle,$$

we have the adjoint operator K_x^* of K_x in frequency domain is

$$\widehat{K_x^*} = \widehat{K_x}^* = e^{-(1-x)\overline{\theta(\xi)}}.$$

On the other hand, Problem (1.15) can be formulated, in frequency space, as follows:

$$\begin{aligned} -i\xi\hat{U} + \hat{U}_x &= U_{xx}, \quad x >, \xi \in \mathbb{R}, \\ \hat{U}(x, 0) &= 0, \quad x \geq 0, \\ \hat{U}(1, \xi) &= g(\xi), \quad \xi \in \mathbb{R}, \\ \hat{U}(x, \xi) &\text{ remains bounded as } x \rightarrow \infty. \end{aligned} \tag{1.17}$$

Problem (1.2) can be formulated, in the frequency space as

$$\begin{aligned} i\xi\hat{u} + \hat{u}_x &= u_{xx}, \quad x >, \xi \in \mathbb{R}, \\ \hat{u}(x, 0) &= 0, \quad x \geq 0, \\ \hat{u}(1, \xi) &= g(\xi), \quad \xi \in \mathbb{R}, \\ \hat{u}(x, \xi) &\text{ remains bounded as } x \rightarrow \infty \end{aligned} \tag{1.18}$$

Taking the conjugate operator for problem (1.18), we realize that $\hat{U}(x, \xi) = \overline{\hat{u}(x, \xi)}$. Then, with (1.5), we conclude that

$$\hat{U}(x, \xi) = \overline{\hat{u}(x, \xi)} = e^{(1-x)\overline{\theta(\xi)}}\hat{g}(\xi);$$

i.e.,

$$\hat{g}(\xi) = e^{-(1-x)\overline{\theta(\xi)}}\hat{U}(x, \xi) = \widehat{K_x^*}\hat{U}(x, \xi) := \widehat{K_x^*}\hat{U}. \tag{1.19}$$

This completes the proof. \square

2. WAVELET DUAL LEAST SQUARES METHOD

In this section we stabilize the non-standard inverse heat conduction problem (1.2) in the interval $0 \leq x < 1$ under condition (1.3) by a wavelet dual least squares method.

2.1. Dual least squares method. For an operator equation $Ku = g$, $K : X = L^2(\mathbb{R}) \mapsto X = L^2(\mathbb{R})$, a general projection method is generated by two subspace families $\{V_j\}$ and $\{Y_j\}$ of X and the approximate solution $u_j \in V_j$ is defined to be the solution of the problem

$$\langle Ku_j, y \rangle = \langle g, y \rangle, \quad \forall y \in Y_j, \tag{2.1}$$

where $\langle \cdot, \cdot \rangle$ denotes the inner product in X . If $V_j \subset R(K^*)$ and subspaces Y_j are chosen in such a way that

$$K^*Y_j = V_j.$$

Then we obtain a special case of projection method known as the dual least squares method. If $\{\psi_\lambda\}_{\lambda \in \tilde{I}_j}$ is an orthogonal basis of V_j and y_λ is the solution of the equation

$$K^*y_\lambda = k_\lambda\psi_\lambda, \quad \|y_\lambda\| = 1, \tag{2.2}$$

the approximate solution is explicitly given by the expression

$$u_j = \sum_{\lambda \in \tilde{I}_j} \langle g, y_\lambda \rangle \frac{1}{k_\lambda} \psi_\lambda. \tag{2.3}$$

2.2. Shannon wavelets. The Shannon scaling function is $\phi = \frac{\sin(\pi t)}{\pi t}$ and its Fourier transform is

$$\hat{\phi}(\xi) = \begin{cases} 1, & |\xi| \leq \pi, \\ 0, & \text{otherwise.} \end{cases} \tag{2.4}$$

The corresponding wavelet function ψ is given by its Fourier transform

$$\hat{\psi}(\xi) = \begin{cases} e^{-i\frac{\xi}{2}}, & \pi \leq |\xi| \leq 2\pi, \\ 0, & \text{otherwise.} \end{cases} \tag{2.5}$$

Let us list some notation: $\phi_{j,k}(t) := 2^{j/2}\phi(2^j t - k)$, $\psi_{j,k}(t) := 2^{j/2}\psi(2^j t - k)$, $j, k \in \mathbb{Z}$, $\Psi_{-1,k} := \phi_{0,k}$ and $\Psi_{l,k} := \psi_{l,k}$ for $l \geq 0$, the index set

$$\begin{aligned} \tilde{I} &= \{\{j, k\} : j, k \in \mathbb{Z}\} \subset \mathbb{Z}^2, \\ \tilde{I}_J &= \{\{j, k\} : j = -1, 0, \dots, J-1; k \in \mathbb{Z}\} \subset \mathbb{Z}^2. \end{aligned} \tag{2.6}$$

Due to the equality $V_J = V_{J-1} \oplus W_{J-1} = V_{J-2} \oplus W_{J-2} \oplus W_{J-1} = \dots = V_0 \oplus W_1 \oplus \dots \oplus W_{J-1}$, we can define the subspaces

$$V_J = \overline{\text{span}\{\Psi_\lambda\}_{\lambda \in \tilde{I}_J}}. \tag{2.7}$$

We define an orthogonal projection $P_J : L^2(\mathbb{R}) \rightarrow V_J$:

$$P_J \varphi = \sum_{\lambda \in \tilde{I}_J} \langle \varphi, \Psi_\lambda \rangle \Psi_\lambda, \quad \forall \varphi \in L^2(\mathbb{R}), \tag{2.8}$$

according to (2.3) we easily conclude $u_J = P_J u$. From the point of view of an application to the problem (1.2), the important property of Shannon wavelets is the compactness of their support in the frequency space. Indeed, since

$$\hat{\psi}_{j,k}(\xi) = 2^{-j/2} e^{-i2^{-j}k\xi} \hat{\psi}(2^{-j}\xi), \quad \hat{\phi}_{j,k}(\xi) = 2^{-j/2} e^{-i2^{-j}k\xi} \hat{\phi}(2^{-j}\xi), \tag{2.9}$$

it follows that for any $k \in \mathbb{Z}$.

$$\text{supp}(\hat{\psi}_{j,k}) = \{\xi : \pi 2^j \leq |\xi| \leq \pi 2^{j+1}\}, \quad \text{supp}(\hat{\phi}_{j,k}) = \{\xi : |\xi| \leq \pi 2^j\}. \tag{2.10}$$

From (2.8), P_J can be seen as a low pass filter. The frequencies with greater than $\pi 2^{J+1}$ are filtered away.

Theorem 2.1. *If $u(x, t)$ is the solution of (1.2) satisfying the condition $\|u(0, \cdot)\|_p \leq E$, then for any fixed $x \in [0, 1)$,*

$$\|u(x, \cdot) - P_J u(x, \cdot)\| \leq \sqrt{e} (2^{J+1})^{-p} e^{-x\sqrt{\frac{1}{2}\pi 2^J}} E. \tag{2.11}$$

Proof. From (2.8), we have

$$\begin{aligned} u(x, \cdot) &= \sum_{\lambda} \langle u(x, \cdot), \Psi_\lambda \rangle \Psi_\lambda, \\ P_J u(x, \cdot) &= \sum_{\lambda \in \tilde{I}_J} \langle u(x, \cdot), \Psi_\lambda \rangle \Psi_\lambda. \end{aligned}$$

Due to Parseval relation and (1.5) (1.10) (1.11) (1.3), we obtain

$$\begin{aligned} &\|u(x, \cdot) - P_J u(x, \cdot)\| \\ &= \|\hat{u}(x, \cdot) - \widehat{P_J u}(x, \cdot)\| \\ &= \left\| \sum_{\lambda \in \tilde{I}} \langle \hat{u}, \hat{\Psi}_\lambda \rangle \hat{\Psi}_\lambda - \sum_{\lambda \in \tilde{I}_J} \langle \hat{u}, \hat{\Psi}_\lambda \rangle \hat{\Psi}_\lambda \right\| \end{aligned}$$

$$\begin{aligned}
&= \left\| \sum_{\lambda \in \tilde{I}_j \geq J+1} \langle \hat{u}, \hat{\Psi}_\lambda \rangle \hat{\Psi}_\lambda \right\| \\
&= \left\| \sum_{\lambda \in \tilde{I}_j \geq J+1} \langle e^{(1-x)\theta(\xi)} \hat{g}(\cdot), \hat{\Psi}_\lambda \rangle \hat{\Psi}_\lambda \right\| \\
&= \left\| \sum_{\lambda \in \tilde{I}_j \geq J+1} \langle e^{-x\theta(\xi)} \hat{f}(\cdot), \hat{\Psi}_\lambda \rangle \hat{\Psi}_\lambda \right\| \\
&\leq \sup_{\pi 2^J \leq |\xi| \leq \pi 2^{J+1}} [|\xi|^{-p} e^{-x\theta(\xi)}] \left\| \sum_{\lambda \in \tilde{I}_j \geq J+1} \langle (1+(\cdot)^2)^{p/2} \hat{f}(\cdot), \hat{\Psi}_\lambda \rangle \hat{\Psi}_\lambda \right\| \\
&\leq \sup_{\pi 2^J \leq |\xi| \leq \pi 2^{J+1}} \sqrt{e} |\xi|^{-p} e^{-x\sqrt{|\xi|/2}} E \\
&\leq \sqrt{e} (2^{J+1})^{-p} e^{-x\sqrt{\pi 2^J/2}} E.
\end{aligned}$$

The proof is complete. \square

2.3. Subspaces Y_j . In this section, we present some properties of the subspaces Y_j . According to $K^*Y_j = V_j$, the subspaces Y_j are spanned by ρ_λ , $\lambda \in \tilde{I}_J$, where

$$K^* \rho_\lambda = \Psi_\lambda, \quad k_\lambda = \|\rho_\lambda\|^{-1}, \quad y_\lambda = \frac{\rho_\lambda}{\|\rho_\lambda\|} = k_\lambda \rho_\lambda. \quad (2.12)$$

The value ρ_λ can be determined by solving the parabolic equation (see Lemma 1.2)

$$\begin{aligned}
-U_t + U_x &= U_{xx}, \quad x >, t > 0, \\
U(x, 0) &= 0, \quad x \geq 0, \\
U(1, t) &= \Psi_{j,k}(t), \quad t \geq 0, \\
U(x, t) &\text{ remains bounded as } x \rightarrow \infty.
\end{aligned} \quad (2.13)$$

Because $\text{supp } \hat{\psi}_{j,k}$ is compact, the solution exists for any $t \in (0, \infty)$. Similarly the solution of the adjoint equation is unique. So for a given Ψ_λ , ρ_λ can be uniquely determined according to (2.13), and

$$\hat{\rho}_\lambda = e^{(1-x)\overline{\theta(\xi)}} \hat{\Psi}_\lambda(\xi) \Leftrightarrow \hat{y}_\lambda = e^{(1-x)\overline{\theta(\xi)}} k_\lambda \hat{\Psi}_\lambda(\xi), \quad \lambda = \{j, k\}. \quad (2.14)$$

The approximate solution for noisy data g_δ is explicitly given by

$$P_J u^\delta(x, t) = u_J^\delta = \sum_{\lambda \in \tilde{I}_J} \langle u^\delta, \Psi_\lambda \rangle \Psi_\lambda = \sum_{\lambda \in \tilde{I}_J} \langle g_\delta, y_\lambda \rangle \frac{1}{k_\lambda} \Psi_\lambda. \quad (2.15)$$

We call it the wavelet dual least squares approximation solution of problem (1.2) in the interval $0 \leq x < 1$.

3. ERROR ESTIMATES

In this section we estimating the error $\|P_J u^\delta - P_J u\|$.

Theorem 3.1. *If g_δ is noisy data satisfying $\|g(\cdot) - g_\delta(\cdot)\| \leq \delta$, then for any fixed $x \in [0, 1)$,*

$$\|P_J u^\delta - P_J u\| \leq c_4 e^{(r-r_1)\sqrt{\pi 2^J/2}} \delta. \quad (3.1)$$

Proof. From (2.14), we obtain $\hat{y}_\lambda = e^{(1-x)\overline{\theta(\xi)}} k_\lambda \hat{\Psi}_\lambda$. Note that $P_J u^\delta$ given by (2.15), $P_J u$ given by (2.3) and (1.11), for $0 \leq x < 1$, we have

$$\begin{aligned}
\|P_J u^\delta(x, \cdot) - P_J u(x, \cdot)\| &= \left\| \sum_{\lambda \in \tilde{I}_J} \langle g_\delta - g, y_\lambda \rangle \frac{1}{k_\lambda} \Psi_\lambda \right\| \\
&= \left\| \sum_{\lambda \in \tilde{I}_J} \langle \hat{g}_\delta - \hat{g}, \hat{y}_\lambda \rangle \frac{1}{k_\lambda} \hat{\Psi}_\lambda \right\| \\
&= \left\| \sum_{\lambda \in \tilde{I}_J} \langle \hat{g}_\delta - \hat{g}, e^{(1-x)\overline{\theta(\xi)}} k_\lambda \hat{\Psi}_\lambda \rangle \frac{1}{k_\lambda} \hat{\Psi}_\lambda \right\| \\
&\leq \sup_{\pi 2^{J-1} \leq |\xi| \leq \pi 2^J} |e^{(1-x)\overline{\theta(\xi)}}| \cdot \left\| \sum_{\lambda \in \tilde{I}_J} \langle \hat{g}_\delta - \hat{g}, \hat{\Psi}_\lambda \rangle \hat{\Psi}_\lambda \right\| \\
&\leq \sup_{\pi 2^{J-1} \leq |\xi| \leq \pi 2^J} |e^{(1-x)\theta(\xi)}| \cdot \|\hat{P}_J(\hat{g}_\delta - \hat{g})\| \\
&\leq \sup_{\pi 2^{J-1} \leq |\xi| \leq \pi 2^J} |e^{(1-x)\theta(\xi)}| \cdot \delta \\
&\leq \sup_{\pi 2^{J-1} \leq |\xi| \leq \pi 2^J} e^{(1-x)\sqrt{|\xi|/2}} \delta \\
&\leq e^{(1-x)\sqrt{\pi 2^J/2}} \delta.
\end{aligned}$$

This completes the proof. \square

We now give the following result which is the main conclusion of this article.

Theorem 3.2. *Let u be the exact solution of (1.2) and let $P_J u^\delta$ be given by (2.15). Let the measured data $g_\delta(t)$, satisfy the condition (1.4) at $x = 1$, and the a priori condition (1.3) hold. If we select the regularization parameter*

$$J = \log_2 \left[\frac{2}{\pi} \left(\ln \left(\frac{E}{\delta} \left(\ln \frac{E}{\delta} \right)^{-2p} \right) \right)^2 \right], \quad (3.2)$$

then for any fixed $x \in [0, 1)$,

$$\|u(x, \cdot) - P_J u^\delta(x, \cdot)\| \leq E^{1-x} \delta^x \left(\ln \frac{E}{\delta} \right)^{-2p(1-x)} (\sqrt{e} + 1 + o(1)) \quad \text{as } \delta \rightarrow 0. \quad (3.3)$$

Proof. Combining Theorem 3.1 with Theorem 2.1, and noting the choice (3.2) of J , we have

$$\begin{aligned}
&\|u(x, \cdot) - P_J u^\delta(x, \cdot)\| \\
&\leq \sqrt{e} (2^{J+1})^{-p} e^{-x\sqrt{\frac{1}{2}\pi 2^J}} E + e^{(1-x)\sqrt{\pi 2^J/2}} \delta \\
&\leq E \sqrt{e} \left(\ln \left(\frac{E}{\delta} \left(\ln \frac{E}{\delta} \right)^{-2p} \right) \right)^{-2p} \left(\frac{E}{\delta} \left(\ln \frac{E}{\delta} \right)^{-2p} \right)^{-x} \\
&\quad + \delta \left(\frac{E}{\delta} \left(\ln \frac{E}{\delta} \right)^{-2p} \right)^{1-x} \\
&\leq E^{1-x} \delta^x \left(\ln \frac{E}{\delta} \right)^{-2p(1-x)} \left\{ \frac{\sqrt{e} (\ln \frac{E}{\delta})^{2p}}{\left(\ln \left(\frac{E}{\delta} \left(\ln \frac{E}{\delta} \right)^{-2p} \right) \right)^{2p}} + 1 \right\}.
\end{aligned}$$

Note that

$$\frac{\ln \frac{E}{\delta}}{\ln \left(\frac{E}{\delta} \left(\ln \frac{E}{\delta} \right)^{-2p} \right)} = \frac{\ln \frac{E}{\delta}}{\ln \frac{E}{\delta} - 2p \ln \left(\ln \frac{E}{\delta} \right)} \rightarrow 1 \quad \text{as } \delta \rightarrow 0;$$

therefore, for $\delta \rightarrow 0$,

$$\|u(x, \cdot) - P_J u^\delta(x, \cdot)\| \leq E^{1-x} \delta^x \left(\ln \frac{E}{\delta} \right)^{-2p(1-x)} (\sqrt{e} + 1 + o(1)).$$

The proof is complete. \square

Remark 3.3. (i) When $p = 0$ and $0 < x < 1$, estimate (3.3) is a Hölder stability estimate given by

$$\|u(x, \cdot) - P_J u^\delta(x, \cdot)\| \leq (\sqrt{e} + 1) E^{1-x} \delta^x. \quad (3.4)$$

(ii) When $p > 0$ and $0 \leq x < 1$, estimate (3.3) is a logarithmical Hölder stability estimate.

(iii) When $p > 0$ and $x = 0$, estimate (3.3) becomes

$$\|u(0, \cdot) - P_J u^\delta(0, \cdot)\| \|u^\delta(x, \cdot)\| \leq E \left(\ln \frac{E}{\delta} \right)^{-2p} (\sqrt{e} + 1 + o(1)) \rightarrow 0 \quad \text{as } \delta \rightarrow 0. \quad (3.5)$$

We can see this estimate is a logarithmical stability estimate similar to the convergence estimate in [9].

Remark 3.4. In general, the a-priori bound E is unknown in practice. In this case, with

$$J = \log_2 \left[\frac{2}{\pi} \left(\ln \left(\frac{1}{\delta} \left(\ln \frac{1}{\delta} \right)^{-2p} \right) \right)^2 \right], \quad (3.6)$$

we have

$$\|u(x, \cdot) - P_J u^\delta(x, \cdot)\| \leq \delta^x \left(\ln \frac{1}{\delta} \right)^{-2p(1-x)} (\sqrt{e} E + 1 + o(1)) \text{ as } \delta \rightarrow 0,$$

where E is only a bounded positive constant and it is not necessary known, exactly.

Acknowledgments. The authors like thank the anonymous referees for their valuable comments and suggestions. This work is supported by grant 11171136 from the National Natural Science Foundation of China, grants 132300410231 and 132300410013 from the Natural Science Foundation of Henan Province of China, grant 2009B110007 from the Fundamental Research Fund for Natural Science of Education, Department of Henan Province of China, and grants 11JCYJ16 and 10XZP006 from the Foundations of Henan University of Technology.

REFERENCES

- [1] J. V. Beck; Nonlinear estimation applied to the nonlinear inverse heat conduction problem, *Int. J. Heat Mass Transfer*, 13: 703-716, 1970.
- [2] J. V. Beck, B. Blackwell, S. R. Chair; *Inverse Heat Conduction: Ill-posed Problems*. John Wiley, New York, 1985.
- [3] A. Carasso; Determining surface temperatures from interior observations, *SIAM J. Appl. Math.*, 42: 558-574, 1982.
- [4] F.-F. Dou, C. L. Fu; Determining an unknown source in the heat equation by a wavelet dual least squares method, *Appl. Math. Lett.*, 22(5): 661-667, 2009.
- [5] L. Eldén; Solving the sideways heat equation by a method of lines, *J. Heat. Transfer, Trns. ASME*, 119: 406-412, 1997.
- [6] L. Eldén, F. Berntsson, T. Regińska; Wavelet and Fourier methods for solving the sideways heat equation, *SIAM J. Sci. Comp.*, 21(6): 2187-2205, 2000.

- [7] C. L. Fu; Simplified Tikhonov and Fourier regularization methods on a general sideways parabolic equation, *Comput. Appl. Math.*, 167: 449-463, 2004.
- [8] C. L. Fu, Y. B. Zhu, C. Y. Qiu; Wavelet regularization for an inverse heat conduction problem. *J. Math. Anal. Appl.*, 288: 212-222, 2003.
- [9] M. T. Nair, U. Tautenhahn; Lavrentiev regularization for linear ill-posed problems under general source conditions, *J. Anal. Appl.*, 23(1): 167-185, 2004.
- [10] Z. Qian, C. L. Fu, X. T. Xiong; A modified method for determining the surface heat flux of IHCP, *Inverse Probl. Sci. Eng.*, 15(3): 249-265, 2007.
- [11] T. Regińska; Application of wavelet shrinkage to solving the sideways heat equation, *BIT Numerical Mathematics*, 41(5): 1101-1110, 2001.
- [12] T. Regińska, L. Eldén; Solving the sideways heat equation by a wavelet-Galerkin method, *Inverse Problems*, 13: 1093-1106, 1997.
- [13] T. Seidman, L. Eldén; An optimal filtering method for the sideways heat equation. *Inverse Problems*, 6: 681-696, 1990.
- [14] J. R. Wang; The multi-resolution method applied to the sideways heat equation, *J. Math. Anal. Appl.*, 309: 661-673, 2005.
- [15] X. T. Xiong, C. L. Fu, H. F. Li; Central difference schemes in time and error estimate on a nonstandard inverse heat conduction problem, *Appl. Math. Comput.*, 157(1): 77-91, 2004.
- [16] X. T. Xiong, C. L. Fu, H. F. Li; Central difference method of a non-standard inverse heat conduction problem for determining surface heat flux from interior observations, *Appl. Math. Comput.*, 173: 1265-1287, 2006.

WEI CHENG

COLLEGE OF SCIENCE, HENAN UNIVERSITY OF TECHNOLOGY, ZHENGZHOU 450001, CHINA
E-mail address: `chwei670815@163.com`

YING-QI ZHANG

COLLEGE OF SCIENCE, HENAN UNIVERSITY OF TECHNOLOGY, ZHENGZHOU 450001, CHINA
E-mail address: `zyq2018@126.com`

CHU-LI FU

SCHOOL OF MATHEMATICS AND STATISTICS, LANZHOU UNIVERSITY, LANZHOU 730000, CHINA
E-mail address: `fuchuli@lzu.edu.cn`